60 kg | Tt.

[e]
=

R

Ay 40 9] BFA 9

S}
of

ks

A2y

o
Tor
&/

ol

@ 65.5kg ® 67kg

@D 62.5kg

® 69.5kg

@ 69kg






o3&, 7, a* b, 9

vl el W7 4, 6, a, b 2

3.

olJ
Eo

ol

@ 17 @ 19 @ 21 ® 23

D 16



o|J
yal

B

@ 14 ® 16 @ 18 ® 20

D 12



o] 8 °]

R

oA 7ie] WEF 5, 6, x, v, 7 9

5.

o

@7 ® 9 @ 11 ® 13

D 5



ol4duf HFa+3, b+3, c+3

@ 3,5 ® 4, 4 @ 5, 4 ® 6,5

® 2,5



of thsto] k= o] Ao, A= e] do], Fols}t z+zt
. S AA o] Fu]7t 6 V5P uf, o] ASHA 2] Zylo]e
HH}E Fotoleth (Ha<b<c)

D 1425 @ 2+ V3 ® 2+12V3
@ 24215 ® 2+24+5



3L sA = 90°9] AZFAz}

o
rr oo

ZfZFtow
SHe= AAMZE-S 19 Zolth AABF €} Yol 7t 2R 9o A7t g-2
D
1
E
H
i
F N G
@ AEAB

® AFMB

277V ABC oA A2 2+2



ohe 2T o] /B = 00° 9 AZAZG ABC A
o] A B o)Al AC of W& 449 IS H e 5
1,a+b+6210,ﬁ:5cm0€1 ]]41’ }‘\:}‘Z]i—ﬁé

ABC 9] Hol& F5t4?

25
@ 25cm? @ 22 cm? @ B2

@ 5cm? ® 10cm?



